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ECONOMICS
( Honours Core )
Paper : ECO-HC—4016
( Intermediate Microeconomics—II )

'Full Marks : 80

-Time : 3 hours

Theﬁgureéinthemarginindicateﬁdlmarks
 Jor the questions

Answer either in English or in Assamese
1. Answer the following questions : 1x10=10
S 2P T fi

(a) What is Pareto opﬁmaﬁty?
O e R
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(2)

(b) Is there transportation cost under
perfect competition?.

o AfSEATeTEe IR “ifRIZ I A ?
ic) What is market failure?
&R el 62

(d) What is the shé.pe of MR curve under
second degree price discrimination?

Oy it " Reoties™ afs SR @R]
AWWN?,'.

(e) Define supernormal profit.
SIS e SR i |

() What is a perceived demand curve?
Heo LIEG Sl &2

(g) Write correct or incorrect :

“Under monopolistic competition; there
are a few sellers.”

wT ¢ SR foret

awm%wwwwﬁw
ml”
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(3)

(h) What is oligopoly?
AR &R 62

() What is meant by moral hazard?
s Retfls 3rcet B @ 2 |

() - What is a two-person game?
fa-afe cm 2

2. Answer the following questions : 2x5=10
SR AR T A

(a) What is a contract curve?

e R

(b) Mention two irhportant characteristics
of public-good. ‘ '

el TR 1 e e T 0

() What is product differentiation?
TR PR =2
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(4)

(d) Mention two applications- of game
theory. '

mw@rﬁma&mwa

(e) What is infomiaﬁqn asymmetry?
R el R 2

3. Answer any four of the following questions :
5x4=20

IR PIERA R @1 vkt T

(@) Explain briefly equilibrium and
efficiency under pure exchange..

T IO

(b) What is Coase theorem? Explain.
I'ed Og R T 40

ic) Explain the ‘prisoner’s dilemma’.

T R’
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(5)

(d) How is the. peak-load pncmg done?
Explain.

5 ©3-To7 Rea 3 391 2 I 30
(e) Explain the Bertrand equilibrium.
IRGRST ST I

() Briefly explain the concept of adverse
selectlon

mm«mmwwn

4. Answer the following questions : 10x4=40
©o 21T e
(a) Discuss - the‘ equilibrium - *  price

and output determination under
monopolistic competition.

GPRTR RN TERAS ST W e

TR TR SO 4T |
or /9l
Compare p'&qlffeétly“ -'competitive

equilibrium with monopoly equilibrium.

f  efeciTenEe W@TW GFCooR
SIOWOR Pl 1 |
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(6)

-(b) Discuss the equilibrium of two-person
zero-sum game with maxi-min and
mini-max strategies.

‘a@ﬁﬂ’ g RAR-cw @PER RS,
- -1at (3R STl ST 41 |

- Or /9[T

Discuss the - problems ' associated
with the markets with asymmetric
information.

AW SR TR TIC GRS FPIPRR
oA FM

(0 Discuss how Pareto efficiency in
- production is, achieved. .
TS (IS’ TFOl e oY W,
TG 41 1 '
Or /9[1
How are equilibrium price and output

determined under third degree pnce
dlscrumnat.lon? Dlscuss

Tom IR v«'{ﬁz@%am@ ST W S
BesiI I et 1 =W 2 A 0
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(7)

(d) Discuss how production possibility
frontier and social indifference curve
determine allocative efficiency.

Beoma TRl @9 9 ANRE ACrs @@
R SRS 7ol (Aol FCI, ST 340 |

Or /9T -
Discuss how both positive and

negative externalities can lead to
market failure. ' ‘

FRE W YIS AR, R Rl
&R RFeror Pt 39 #Ie, S 3411 -

* % %k
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